HW #6
SP211 Vanhoy

Completed in Class already

Four Book problems

Serway: Chapter 6: 4, 7, 3, 5

Twa objects are connected by a light string passing over a
light, frictionlesspulley as showa in Figure P8.7. The
object of mass 5.00 kg is released from rest. Using the iso-
lated system model, (a) determitie the speed of the 3.00kg
object just as the 5.00-kg object hits the ground. (b) Find
the maximum height to which the 3.00kg object rises.

4. A particle of mass m = 5.00 kg is released from point ®
and slides on the frictionless track shown in Figure P8.4.
Determine (a) the particle’s speed at points ® and © and

Figure P8.2 Problems 7 and 8.

A bead slides without friction around a loop-the-loop A block of . .
0.250 i
(Fig. P8.3). The bead is released from a height k = 3.50R 5] mass 0.250 kg is placed on top of a light vert

cal spring of f -
(a) What is the bead’s speed at point ®? (b) How large is spring of force co?stax‘)t 5000 N/m and pushed down
the normal force on the bead if its mass is 5.00 g? ward so d?at the spring is compressed by 0.100 m. After

the block is released from rest, it travels upward and then

leaves the spring. To what maximum height above the
point of release does it rise?

®

Figure P8.3




